LEMFORDER 4}

o= 68 T i 2 A Ref.

JAGUAR

S-TYPE (CCX)

29702 01\

i
e 28] g
é ) 23431 02 : 2043102 é
o' 30639 01 - :
-2 o
o= | Spurstangenkopf/ Tie Rod End (28) @(5 26979 01 XR8 1770
ALL TYPES ->Chass. M45254 l
N
<= | Spurstangenkopf/ Tie Rod End (28) @(5 26983 01 XR8 1771
ALL TYPES ->Chass. M45254 & -
e
= | Spurstangenkopf / Tie Rod End (28) @6 29425 01 €2C 35783
radseitig / Wheel Side (233)
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75) .
Gewindemal / Thread Size: M12x1,75 (63)
ALL TYPES Chass. M45255->
<= | Spurstangenkopf/ Tie Rod End (28) @Cf 29426 01 €2C 20176
radseitig / Wheel Side (233)
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75) 1
GewindemalR / Thread Size: M12x1,75 (63)
ALL TYPES Chass. M45255->
= | Axialgelenk, Spurstange / Tie Rod Axle Joint ©®| @/ 29702 01 ggg §gg§g
radseitig / Wheel Side (233)
GewindemalR / Thread Size: M16x1,5 (63)
Gewindemal / Thread Size: M14x1,5 (63)
3.0 V6 01.99 - 04.2002-> &
25V6 04.02 - w =
42V8 04.02 - 4
R4,2V8 04.02 -
27D 06.04 -
= | Faltenbalg, Lenkung / Bellow, steering WG 34340 01 XR8 14991
Innendurchmesser 1 [mm] / Inner Diameter 1 [mm]: 13 (72)
Innendurchmesser 2 [mm] / Inner Diameter 2 [mm]: 56 (73)
ALL TYPES ->Chass. L86901
= | Faltenbalg, Lenkung / Bellow, steering WG 34341 01 XR8 30015
Innendurchmesser 1 [mm] / Inner Diameter 1 [mm]: 13 (72)
Innendurchmesser 2 [mm] / Inner Diameter 2 [mm]: 63 (73)
ALL TYPES Chass. L86902->
<= | Faltenbalg, Lenkung / Bellow, steering (7) @ 35015 01 XR8 7398
Durchmesser 1 [mm] / Diameter 1 [mm]: 13 (50)
Durchmesser 2 [mm] / Diameter 2 [mm]: 75 (52)
ALL TYPES ->Chass. L86901

842 ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com



LEMFORDER 4}

= o
o> 620 A % i 3 A Ref.
S-TYPE (CCX) 01.99 -
o= | Lenker, Radaufhdangung / Track Control Arm (15| A@ 30631 01 XR8 56013
Querlenker / Control Arm (96) ol
ALL TYPES ->Chass. (V) M45254
o
1
®
= | Lenker, Radaufhingung / Track Control Arm (15| A@ 30632 01 XR8 56012
Querlenker / Control Arm (96) o
ALL TYPES ->Chass. (V) M45254 .
e‘/f
o= | Lenker, Radaufhdngung / Track Control Arm 15| Y@ 30635 01 XR8 51825
Querlenker / Control Arm (96)
ALL TYPES ->Chass. (V) M45254
~
“*@ﬁ‘;@
o= | Lenker, Radaufhdangung / Track Control Arm 15| Y® 30636 01 XR8 51824
Querlenker / Control Arm (96)
ALL TYPES ->Chass. (V) M45254
. ;\\
s =)
o= | Lenker, Radaufhdngung / Track Control Arm (15| A@ 33746 01 XR8 57653
Querlenker / Control Arm (96) o
ALL TYPES Chass. M45255-> >
-i ,
o= | Lenker, Radaufhdngung / Track Control Arm 15| A@ 33747 01 XR8 57652
Querlenker / Control Arm (96) o
ALL TYPES Chass. M45255-> N
<= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush (11) V@@@ 29783 01 €2C 36029
fur Querlenker / For control arm (180) -
ALL TYPES
<= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush (11) V@@@ 29784 01 C2C 4437
fur Querlenker / For control arm (180)
ALL TYPES Chass. M45255->
o= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush (11) V@@d 2978501 ) €2C 4438
fUr Querlenker / For control arm (180) L D)
ALL TYPES Chass. (V) M45255-> 5 L
o= | Stange/Strebe, Stabilisator / Link Stabiliser D) 29431 02 €2C 39468
ohne Zubehdr / Without accessories (231) é
Koppelstange / Coupling Rod (79) =%
ALL TYPES Chass. M45255-> e
= | Stange/Strebe, Stabilisator / Link Stabiliser @)@ 30639 01 XR8 55185
Pendelstange / Suspension Rod (95) j
ALL TYPES ->Chass. (V) M45254 =
T il 1
"’ 29
ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com 843




LEMFORDER 4}

o= 68 T i 2 A Ref.

JAGUAR

S-TYPE (CCX) 01.99 -
o= | Lagerung, Radlagergehduse (12) @@ 35353 01 C2C 36866
Bearing, wheel bearing housing
Querlenker / Control Arm (96)
Bohrung-@ [mm] / Bore @ [mm]: 14 (44)
ALL TYPES Chass. M45255->
=» | Spurstange / Rod Assembly @7)| @ 33589 01 XR8 25750
ALL TYPES ->Chass. M45254 -i.—-——ﬁ
=% | Spurstange / Rod Assembly @7)| @ 33590 01 €2C 36985
ALL TYPES Chass. M45255-> —lbl__——_@
=» | Lenker, Radaufhdngung / Track Control Arm (15| A@ 30633 01 C2p 13877
Querlenker / Control Arm (96)
ALL TYPES
& | Lenker, Radaufhangung / Track Control Arm (15| A@ 30634 01 C2P 13876
Querlenker / Control Arm (96)
ALL TYPES
& | Lenker, Radaufhdngung / Track Control Arm 15| Y@ 30637 01 XR8 8760
Querlenker / Control Arm (96) - f
ALL TYPES ->Chass. (V) M45254 3 ",\
\DN
&» | Lenker, Radaufhdngung / Track Control Arm 15| Y@ 30638 01 XR#8 8759
Querlenker / Control Arm (96) &\b —
ALL TYPES ->Chass. (V) M45254 S
f@
&» | Stange/Strebe, Stabilisator / Link Stabiliser @@ 29427 01 €2C 18572
Pendelstange / Suspension Rod (95) 1
ALL TYPES
-
& | Stange/Strebe, Stabilisator / Link Stabiliser NG 29428 01 C2¢ 18571
Pendelstange / Suspension Rod (95) K
ALL TYPES
-

844 ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com



LEMFORDER 4}

o= AR A

L A

Ref.

X-TYPE (CF1)

e 27703 01

‘—Y 25497 02
o 25809 01

JAGUAR

Spurstangenkopf / Tie Rod End
Konusmal [mm] / Cone Size [mm]: 15
Gewindemal 1/ Thread Measurement 1: M16x1,5
Gewindemal} 2 / Thread Measurement 2: M10x1,5
mit Zubehor / With accessories

ALL TYPES

27704 02 C2S 47357

& pe

o O

Axialgelenk, Spurstange / Tie Rod Axle Joint
Gewindemal / Thread Size: M16x1,5

CICH

ALL TYPES

fiir Lenkgetriebe-ID / For steering gear ID:ZF

7831974179

fiir Lenkgetriebe-ID / For steering gear ID:ZF

7831974 180

firr Lenkgetriebe-ID / For steering gear ID:ZF

7831993 105

fiir Lenkgetriebe-ID / For steering gear ID:ZF

7831993 106

(172)
(172)
(172)

(172)

27703 01 2X43 3200 BE
) —e————

Faltenbalg, Lenkung / Bellow, steering
Innendurchmesser 1 [mm] / Inner Diameter 1 [mm]: 16
Innendurchmesser 2 [mm] / Inner Diameter 2 [mm]: 49

@)
(72)
(73)

®

ALL TYPES

34938 01 C2S 12019

£t

Trag-/Fihrungsgelenk / Ball Joint
mit Zubehor / With accessories

(32)
(209)

ALL TYPES

26060 02 1X43 3395 AB

1is

o B 5

Stange/Strebe, Stabilisator / Link Stabiliser
Pendelstange / Suspension Rod
mit Zubehor / With accessories

(C)
(95)
(209)

®

2.0Ve6

25V6

3.0Ve6

20D

2.2 D, 107 kW

03.02
06.01
06.01
07.03
01.07

Chass. D14966->

22D, 114 kW 10.05

25497 02 C2S 39552

by

Stange/Strebe, Stabilisator / Link Stabiliser
Pendelstange / Suspension Rod

(31
(95)

®

2.0V6
25V6
3.0V6
2.2D, 107 kW

03.02
06.01
06.01
01.07

->Chass. D14965

25809 01 C2S 3248

e

Lagerung, Lenker / Control Arm-/Trailing Arm Bush
Aussendurchmesser [mm] / Outer Diameter [mm]: 36,5
Innendurchmesser [mm] / Inner Diameter [mm]: 35

fuir Querlenker / For control arm

11)
39)
74)
(180)

ve

ALL TYPES

33780 01

®

1X43 5B713 AA

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com

845



LEMFORDER 4}
o= AR A Bz 5 i 05 A Ref.

JAGUAR

= | Stange/Strebe, Stabilisator / Link Stabiliser 31| @ 29573 01 €25 45009
Laénge innen [mm] / Inner Length [mm]: 58 (85) !
Koppelstange / Coupling Rod (79) .
ALL TYPES %#
& | Lagerung, Radlagergehiuse 12)| Y@ * 3377901 1X43 5K743 A
Bearing, wheel bearing housing
fur Querlenker / For control arm (180)
ALL TYPES

X-TYPE Estate

A — 2T 703 01 < 27703 0 com——

‘—Y 25497 02 = Y—L
- 25809 01 > v

= | Spurstangenkopf / Tie Rod End ( 27704 02 C2S 47357
Konusmalf [mm] / Cone Size [mm]: 15 (
Gewindemal 1/ Thread Measurement 1: M16x1,5 (64)
Gewindemal 2 / Thread Measurement 2: M10x1,5 (65)
mit Zubehor / With accessories (209) o o
ALL TYPES & -
o= | Axialgelenk, Spurstange / Tie Rod Axle Joint 6| @@ 27703 01 2X43 3200 BE
Gewindemald / Thread Size: M16x1,5 (63) i e —
ALL TYPES fur Lenkgetriebe-ID / For steering gear ID:ZF  |(172)
7831974 179
fur Lenkgetriebe-ID / For steering gear ID:ZF  |(172)
7831974 180
fur Lenkgetriebe-ID / For steering gear ID:ZF |(172)
7831993 105
fur Lenkgetriebe-ID / For steering gear ID:ZF  |(172)
7831993 106
= | Faltenbalg, Lenkung / Bellow, steering M| @ 34938 01 €2S 12019
Innendurchmesser 1 [mm] / Inner Diameter 1 [mm]: 16 (72)
Innendurchmesser 2 [mm] / Inner Diameter 2 [mm]: 49 (73)
ALL TYPES
o= | Trag-/Fiihrungsgelenk / Ball Joint (32)| @ 26060 02 1X43 3395 AB
mit Zubehor / With accessories (209) it ‘
ALL TYPES D 5 B
= | Stange/Strebe, Stabilisator / Link Stabiliser @)@ 25497 02 C2S 39552
Pendelstange / Suspension Rod (95)
mit Zubehor / With accessories (209) %
2.0 V6 11.03 - o
25 02.04 -
3.0 02.04 -
20D 02.04 - 10.05
2.2D, 114 kW 10.05 -
2.2D, 107 kW 01.07 - Chass. D14966->

846 ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com



LEMFORDER 4}
o= AR A Bz 5 i 05 A Ref.

JAGUAR

o= | Stange/Strebe, Stabilisator / Link Stabiliser B1)| @ 25809 01 C2s 3248
Pendelstange / Suspension Rod (95)
2.2 D, 107 kW 01.07 - ->Chass. D14965 A—'-_—'_'
=» | Lagerung, Lenker / Control Arm-/Trailing Arm Bush (11) V@d 33780 01  1x43 5B713 AA
Aussendurchmesser [mm] / Outer Diameter [mm]: 36,5 (39)
Innendurchmesser [mm] / Inner Diameter [mm]: 35 (74)
flir Querlenker / For control arm (180)
ALL TYPES
=% | Stange/Strebe, Stabilisator / Link Stabiliser 3B1)| @ 29573 01 C2S 45009
Lénge innen [mm] / Inner Length [mm]: 58 (85) !
Koppelstange / Coupling Rod (79) .
ALL TYPES %#
& | Lagerung, Radlagergehiuse 12| Y@ 3377901 1X43 5K743 A
Bearing, wheel bearing housing
fur Querlenker / For control arm (180)
ALL TYPES

.G
-] -3
g 33747 01 5
. - . ) 'hl
hsaa?s 01 1 — 33880 01 /_\é
‘ 4 - - ] = ‘
& 33881 01 33881 01 ===
é & Kz 20431 ozu_s,é
= ] 29431 02 —
- ’ o9
= | Spurstangenkopf / Tie Rod End 33879 01 €22 5518
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75)
Aussengewinde [mm)] / Outer Thread [mm]: M14x2 (41) h
30 03.08 - e
4.2 03.08 -
4.2 Kompressor 03.08 -
27D 03.08 -
= | Spurstangenkopf / Tie Rod End (28) @(5 33880 01 €2z 5517
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75)
Aussengewinde [mm] / Outer Thread [mm]: M14x1,5 (41) ._/—\é
30 03.08 - e
4.2 03.08 -
4.2 Kompressor 03.08 -
27D 03.08 -
<= | Axialgelenk, Spurstange / Tie Rod Axle Joint )| @ 3388101 g§§ gg:g
GewindemaR 1/ Thread Measurement 1: M16x1,5 (64)
Gewindemal 2 / Thread Measurement 2: M14x1,5 (65) ‘ __
3.0 03.08 - A
4.2 03.08 - =
4.2 Kompressor 03.08 -
27D 03.08 -

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com 847



LEMFORDER 4}

= o
o= AR A T i 0 A Ref.
XF 03.08 -
o= | Faltenbalg, Lenkung / Bellow, steering WG 3434101 XR8 30015
Innendurchmesser 1 [mm] / Inner Diameter 1 [mm]: 13 (72)
Innendurchmesser 2 [mm] / Inner Diameter 2 [mm]: 63 (73)
ALL TYPES ausser/except for :
3.0 D, 155 kW 03.09 - -y
= | Lenker, Radaufhingung / Track Control Arm (15| A@ 33746 01 XR8 57653
Querlenker / Control Arm (96) ]
3.0 03.08 - >
4.2 03.08 - i
4.2 Kompressor 03.08 - " y
27D 03.08 - ®
o= | Lenker, Radaufhdngung / Track Control Arm (15 A® 33747 01 XR8 57652
Querlenker / Control Arm (96) o)
3.0 03.08 - )
4.2 03.08 - e
4.2 Kompressor 03.08 - e/ N
27D 03.08 - -
o= | Stange/Strebe, Stabilisator / Link Stabiliser 3B1)| @ 29431 02 €2C 39468
ohne Zubehdr / Without accessories (231) é
Koppelstange / Coupling Rod (79) 0
3.0 03.08 - e
4.2 03.08 -
4.2 Kompressor 03.08 -
27D 03.08 -
o= | Lagerung, Radlagergehiuse 12)| @D 35353 01 €2C 36866
Bearing, wheel bearing housing
Querlenker / Control Arm (96)
Bohrung-@ [mm] / Bore @ [mm]: 14 (44)
ALL TYPES ausser/except for : L
3.0 D, 155 kW 03.09 - )
& | Stange/Strebe, Stabilisator / Link Stabiliser @)@ 29427 01 €2C 18572
Pendelstange / Suspension Rod (95) 1
3.0 03.08 -
4.2 03.08 -
4.2 Kompressor 03.08 -
27D 03.08 - -
&» | Stange/Strebe, Stabilisator / Link Stabiliser NG 29428 01 €2C 18571
Pendelstange / Suspension Rod (95) '
3.0 03.08 -
4.2 03.08 -
4.2 Kompressor 03.08 -
27D 03.08 - i

848 ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com



LEMFORDER 4}

o= 68 T i 2 A Ref.

JAGUAR

XJ (X300) 11.94 - 07.97

11793 01 1793 01

11791 01J

-

16508 01 gg—tpandll

26993 01
26994 01 .__‘

11794 01

<= | Spurstange / Rod Assembly @7)| @ 16508 01 JLM 409
fur / for: ZF (116)
ALL TYPES L—l—.
<= | Spurstangenkopf/ Tie Rod End (28) @(f 11791 01 JLM 9660
mit Rechtsgewinde / with right-hand thread (206)
Gewindemal / Thread Size: M14x1,5 (63)
ALL TYPES
e
o= | Trag-/Fiihrungsgelenk / Ball Joint 32)| A@® 11793 01 CAC 9938
ALL TYPES !!
<= | Trag-/Fiihrungsgelenk / Ball Joint (32| Y@ 11794 01 JLM 11860
ALL TYPES I!
<= | Stange/Strebe, Stabilisator / Link Stabiliser G| @ 26993 01 MJA 2105AG
Koppelstange / Coupling Rod (79)
ALL TYPES ->Chass. 853935
o= | Stange/Strebe, Stabilisator / Link Stabiliser G| @ 26994 01 MNC 2105AA
Koppelstange / Coupling Rod (79)
ALL TYPES Chass. 853936->

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com 849



LEMFORDER 4}

o= 68 T i 2 A Ref.

JAGUAR

XJ (NAW, NBW) 07.97 - 05.03

11793 M 11793 M1
26914 01 26914 01

11791 01J

o

25217 0 s
16508 01 g emmfpmzendl

26993 01
26994 01

1 b 11794 01
26980 01 26980 01

<= | Spurstange / Rod Assembly @7)| @ 16508 01 JLM 409
fur / for: ZF (116)
ALLTYPES L—I—.

<= | Spurstangenkopf/ Tie Rod End (28) @(5 11791 01 JLM 9660
mit Rechtsgewinde / with right-hand thread (206)
Gewindemal / Thread Size: M14x1,5 (63)
ALL TYPES

e

<= | Axialgelenk, Spurstange / Tie Rod Axle Joint 6| @@ 25217 01 JLM 409
mit Rechtsgewinde / with right-hand thread (206) '_
Gewindemal / Thread Size: M14x1,5 (63)
ALL TYPES

<= | Faltenbalg, Lenkung / Bellow, steering M| @ 34939 01 JLM 20683
Innendurchmesser 1 [mm] / Inner Diameter 1 [mm]: 13 (72)
Innendurchmesser 2 [mm] / Inner Diameter 2 [mm]: 57 (73)
ALL TYPES

<= | Trag-/Fiihrungsgelenk / Ball Joint (32)| A® 11793 01 CAC 9938
ALL TYPES I!

o= | Trag-/Fiihrungsgelenk / Ball Joint ¢62)| Y@ 11794 01 JLM 11860
ALL TYPES I!

= | Trag-/Fiihrungsgelenk / Ball Joint 32)| A@ 26914 01 JLM 21380
Konusmalf [mm] / Cone Size [mm]: 16 ltad)
ohne Befestigungsmaterial / Without fastening material (225)
ALL TYPES Chass. 812317 - Chass. F59525

o= | Trag-/Fiihrungsgelenk / Ball Joint ¢62)| Y@ 26980 01 MNC 1350AA
ALL TYPES Chass. 812317 - Chass. F59525 z

850 ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com



LEMFORDER 4}
o> 620 A =) i A Ref.
JAGUAR

XJ (NAW, NBW) 07.97 - 05.03

o= | Stange/Strebe, Stabilisator / Link Stabiliser B1)| @ 26993 01 MJA 2105AG
Koppelstange / Coupling Rod (79)
ALL TYPES ->Chass. 853935

= | Stange/Strebe, Stabilisator / Link Stabiliser @)@ 26994 01 MNC 2105AA
Koppelstange / Coupling Rod (79)
ALL TYPES Chass. 853936->

XJ (X350, X358

29426 01

2970201

29431 02 (i

‘L w/l

< | Spurstangenkopf / Tie Rod End (28) @(f 29425 01 €2C 35783
radseitig / Wheel Side (233) I
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75)
Gewindemal / Thread Size: M12x1,75 (63)
ALL TYPES

< | Spurstangenkopf / Tie Rod End (28) @Cf 29426 01 €2C 20176
radseitig / Wheel Side (233) I
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75)
Gewindemal / Thread Size: M12x1,75 (63)
ALL TYPES

= | Axialgelenk, Spurstange / Tie Rod Axle Joint @/ 29702 01 €2C 29620
radseitig / Wheel Side (233) C2C 38669
GewindemalR / Thread Size: M16x1,5 (63)
Gewindemal / Thread Size: M14x1,5 (63)
ALL TYPES

P

o= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush | Yed@® 29783 01 €2C 36029
fur Querlenker / For control arm (180)
ALL TYPES Chass. G00442->
= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush M vyedD® 29784 01 €2C 4437
fur Querlenker / For control arm (180)
ALL TYPES Chass. G00442->
<= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush (11) V@@C{ 2978501 €2C 4438
fir Querlenker / For control arm (180) (__ )
ALL TYPES Chass. G00442-> B

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com 851



LEMFORDER 4}

o= AR A

Bz 5

QQ Af& Ref.

JAGUAR

XJ (X350, X358) 05.03 -

o= | Stange/Strebe, Stabilisator / Link Stabiliser B1)| @ 29431 02 €2C 39468
ohne Zubehor / Without accessories (231)
Koppelstange / Coupling Rod (79) —
ALL TYPES @e

= | Achskérperlager / Hub Carrier Bush @D 29781 01 €2C 2941

ALL TYPES

Chass. G00442->

o= | Achskorperlager / Hub Carrier Bush

O]

o0

ALL TYPES

Chass. G00442->

29782 01 C2C 2942

& | Spurstange / Rod Assembly @n| @ 33590 01 €2C 36985
ALL TYPES Chass. G00442-> ""I__——_@
& | Stange/Strebe, Stabilisator / Link Stabiliser @)@ 29427 01 €2C 18572
Pendelstange / Suspension Rod (95) 1
ALL TYPES Chass. G00442->
—
&» | Stange/Strebe, Stabilisator / Link Stabiliser G 29428 01 C2C 18571
Pendelstange / Suspension Rod (95) '
ALL TYPES Chass. G00442->
e
XK Coupe

3
- ?

<= | Spurstangenkopf/ Tie Rod End (28)
radseitig / Wheel Side (233)
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75)
Gewindemal} / Thread Size: M12x1,75 (63)

3.5 XK 07.07 -
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 -
5.0V8 01.09 -

->Chass. B32752

29425 01 C2C 35783

e~

852

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com



LEMFORDER 4}

o SR A B 58 i 8 A Ref.

JAGUAR

XK Coupe 03.06 -
o= | Spurstangenkopf/ Tie Rod End (28) @(5 29426 01 €2C 20176
radseitig / Wheel Side (233)
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75) 1
Gewindemal / Thread Size: M12x1,75 (63)
3.5 XK 07.07 - ->Chass. B32752
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 -
5.0 V8 01.09 -
<= | Spurstangenkopf/ Tie Rod End (28) @(5 33879 01 €2z 5518
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75) o
Aussengewinde [mm)] / Outer Thread [mm]: M14x2 (41) h
35XK 07.07 - Chass. B32753-> e
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 -
5.0V8 01.09 -
<= | Spurstangenkopf/ Tie Rod End (28) @(5 33880 01 C2z 5517
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75)
Aussengewinde [mm)] / Outer Thread [mm]: M14x1,5 (41) = :
35XK 07.07 - Chass. B32753-> e
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 -
5.0V8 01.09 -
<= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush (11) V@@(f 29785 01__ C2C 4438
flr Querlenker / For control arm (180) L D)
3.5 XK 07.07 - b
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 -
5.0V8 01.09 -
o= | Stange/Strebe, Stabilisator / Link Stabiliser G| @ 29431 02 €2C 39468
ohne Zubehdr / Without accessories (231) é
Koppelstange / Coupling Rod (79) =S|
35 XK 07.07 - @
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 -
5.0Vv8 01.09 -
«= | Lagerung, Radlagergehduse (12) @@ 35353 01 C2C 36866
Bearing, wheel bearing housing
Querlenker / Control Arm (96)
Bohrung-@ [mm] / Bore @ [mm]: 14 (44)
ALL TYPES ausser/except for : Chass. B08196 - Chass. B37833
5.0 XKR, 390 kW 09.10 -
5.0 XKR-8 01.11 -
=» | Spurstange / Rod Assembly @7)| @ 33590 01 €2C 36985
3.5 XK 07.07 - Chass. B00379-> "’.I_——_@
4.2 XK8 03.06 - )
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 -
5.0 Vv8 01.09 -
=» | Lenker, Radaufhdngung / Track Control Arm (15| A®@ 30633 01 C2P 13877
Querlenker / Control Arm (96)
3.5 XK 07.07 -
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 -
5.0V8 01.09 -
=» | Lenker, Radaufhdngung / Track Control Arm (15| A®@® 30634 01 C2P 13876
Querlenker / Control Arm (96)
3.5 XK 07.07 -
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 -
5.0V8 01.09 -

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com 853



LEMFORDER 4}

= 0
o D iR 7T i L A Ref.
XK Coupe 03.06 -
=» | Stange/Strebe, Stabilisator / Link Stabiliser 6@ 29427 01 C2C 18572
Pendelstange / Suspension Rod (95) 1
3.5 XK 07.07 -
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 - -
50V8 01.09 -
&3 | Stange/Strebe, Stabilisator / Link Stabiliser @)@ 29428 01 €2C 18571
Pendelstange / Suspension Rod (95) '
3.5 XK 07.07 -
4.2 XK8 03.06 -
4.2 XKR, 291 kW 03.06 -
4.2 XKR, 306 kW 03.06 - fie
5.0V8 01.09 -
XK Cabriolet

2942501
33879 01

29426 01
33880 01

29431 ozg
o0

= | Spurstangenkopf / Tie Rod End (28) @(f 29425 01 €2C 35783
radseitig / Wheel Side (233)
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75) 5
Gewindemal} / Thread Size: M12x1,75 (63)
3.6 10.07 - ->Chass. B32752
4.2 XK8 03.06 -
4.2 XKR 03.06 -
5.0Vv8 01.09 -
<= | Spurstangenkopf/ Tie Rod End (28) @(5 29426 01 €2C 20176
radseitig / Wheel Side (233)
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75)
Gewindemal / Thread Size: M12x1,75 (63)
3.6 10.07 - ->Chass. B32752
4.2 XK8 03.06 -
4.2 XKR 03.06 -
5.0 V8 01.09 -
= | Spurstangenkopf / Tie Rod End (28) @d 33879 01 €2z 5518
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75)
Aussengewinde [mm)] / Outer Thread [mm]: M14x2 (41)
3.6 10.07 - Chass. B32753->
4.2 XK8 03.06 -
4.2 XKR 03.06 -
5.0V8 01.09 -
= | Spurstangenkopf / Tie Rod End (28) @C{ €2z 5517
Innengewinde [mm] / Inner Thread [mm]: M14x1,5 (75)
Aussengewinde [mm] / Outer Thread [mm]: M14x1,5 (41)
3.6 10.07 - Chass. B32753->
4.2 XK8 03.06 -
4.2 XKR 03.06 -
50V8 01.09 -
= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush (1) V@@C{ €2C 4438
fur Querlenker / For control arm (180)
3.6 10.07 -
4.2 XK8 03.06 -
4.2 XKR 03.06 -
5.0Vv8 01.09 -

854 ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com



LEMFORDER 4}

= o
o> 620 A % 1 5 A Ref.
XK Cabriolet 03.06 -
o= | Stange/Strebe, Stabilisator / Link Stabiliser B1)| @ 29431 02 €2C 39468
ohne Zubehdr / Without accessories (231) é
Koppelstange / Coupling Rod (79) =S|
3.6 10.07 - ee
4.2 XK8 03.06 -
4.2 XKR 03.06 -
5.0 V8 01.09 -
o= | Lagerung, Radlagergehduse (12) @@ 35353 01 C2C 36866
Bearing, wheel bearing housing
Querlenker / Control Arm (96)
Bohrung-@ [mm] / Bore @ [mm]: 14 (44)
ALL TYPES Chass. B08196 - Chass. B37833
=% | Spurstange / Rod Assembly @7)| @ 33590 01 €2C 36985
3.6 10.07 - Chass. B00379-> e —
4.2 XK8 03.06 - N
4.2 XKR 03.06 -
5.0 V8 01.09 -
=» | Lenker, Radaufhdngung / Track Control Arm (15| A@ 30633 01 C2p 13877
Querlenker / Control Arm (96)
3.6 10.07 -
4.2 XK8 03.06 -
4.2 XKR 03.06 -
5.0Vv8 01.09 -
=» | Lenker, Radaufhdngung / Track Control Arm (15)| A@ 30634 01 C2P 13876
Querlenker / Control Arm (96)
3.6 10.07 -
4.2 XK8 03.06 -
4.2 XKR 03.06 -
5.0Vv8 01.09 -
& | Stange/Strebe, Stabilisator / Link Stabiliser @@ 29427 01 €2C 18572
Pendelstange / Suspension Rod (95) 1
3.6 10.07 -
4.2 XK8 03.06 -
4.2 XKR 03.06 -
5.0Vv8 01.09 - -
&» | Stange/Strebe, Stabilisator / Link Stabiliser NG 29428 01 €2C 18571
Pendelstange / Suspension Rod (95) K
3.6 10.07 -
4.2 XK8 03.06 -
4.2 XKR 03.06 -
5.0Vv8 01.09 - fje
ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com 855




LEMFORDER 4}

o= 68 T i 2 A Ref.

JAGUAR

XK 8 Coupe (QEV)

03.96 -

= | Spurstangenkopf / Tie Rod End (28) @(f 11791 01 JLM 9660
mit Rechtsgewinde / with right-hand thread (206)
Gewindemal / Thread Size: M14x1,5 (63)
4.0, 209 kW 03.96 -
4.0, 267 kW 02.98 - Q
4.2 08.02 -
R 4,2 08.02 -
= | Axialgelenk, Spurstange / Tie Rod Axle Joint )| @@ 25217 01 JLM 409
mit Rechtsgewinde / with right-hand thread (206) '_
Gewindemal / Thread Size: M14x1,5 (63)
4.0, 209 kW 03.96 -
4.0, 267 kW 02.98 -
4.2 08.02 -
R 4,2 08.02 -
< | Faltenbalg, Lenkung / Bellow, steering @ 34939 01 JLM 20683
Innendurchmesser 1 [mm] / Inner Diameter 1 [mm]: 13 (72)
Innendurchmesser 2 [mm] / Inner Diameter 2 [mm]: 57 (73)
ALL TYPES Chass. A00083->
= | Trag-/Fiihrungsgelenk / Ball Joint 32)| A@ 26914 01 JLM 21380
KonusmaR [mm] / Cone Size [mm]: 16 (77)
ohne Befestigungsmaterial / Without fastening material (225)
4.0, 209 kW 03.96 -
4.0, 267 kW 02.98 -
4.2 08.02 -
R 4,2 08.02 -
o= | Trag-/Fiihrungsgelenk / Ball Joint ¢62)| Y@ 26980 01 MNC 1350AA
ALL TYPES I
= | Stange/Strebe, Stabilisator / Link Stabiliser @1 @ 26993 01 MJA 2105AG
Koppelstange / Coupling Rod (79)
4.0, 209 kW 03.96 -
4.0, 267 kW 02.98 -
4.2 08.02 -
R 4,2 08.02 -

856 ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com



LEMFORDER 4}
o> 620 A =) i A Ref.
JAGUAR

XK 8 Convertible (QDV)

03.96 -

= | Spurstangenkopf / Tie Rod End (28) @(f 11791 01 JLM 9660
mit Rechtsgewinde / with right-hand thread (206)
Gewindemal / Thread Size: M14x1,5 (63)
4.0, 209 kW 03.96 -
4.0, 267 kW 02.98 - Q
4.2 08.02 -
R 4,2 08.02 -
= | Axialgelenk, Spurstange / Tie Rod Axle Joint )| @@ 25217 01 JLM 409
mit Rechtsgewinde / with right-hand thread (206) '_
Gewindemal / Thread Size: M14x1,5 (63)
4.0, 209 kW 03.96 -
4.0, 267 kW 02.98 -
4.2 08.02 -
R 4,2 08.02 -
< | Faltenbalg, Lenkung / Bellow, steering @ 34939 01 JLM 20683
Innendurchmesser 1 [mm] / Inner Diameter 1 [mm]: 13 (72)
Innendurchmesser 2 [mm] / Inner Diameter 2 [mm]: 57 (73)
ALL TYPES Chass. A00083->
= | Trag-/Fiihrungsgelenk / Ball Joint 32)| A@ 26914 01 JLM 21380
KonusmaR [mm] / Cone Size [mm]: 16 (77)
ohne Befestigungsmaterial / Without fastening material (225)
4.0, 209 kW 03.96 -
4.0, 267 kW 02.98 -
4.2 08.02 -
R 4,2 08.02 -
o= | Trag-/Fiihrungsgelenk / Ball Joint ¢62)| Y@ 26980 01 MNC 1350AA
ALL TYPES I
= | Stange/Strebe, Stabilisator / Link Stabiliser @1 @ 26993 01 MJA 2105AG
Koppelstange / Coupling Rod (79)
4.0, 209 kW 03.96 -
4.0, 267 kW 02.98 -
4.2 08.02 -
R 4,2 08.02 -

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com 857



